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(=3)* = (=3)x(=3)x(-3)=| -27 (2) -3*=-3x3x3x3=|-81

(-3)" = (B)x(B)x(-B)x(-3) =

(1) = (“Dx (Dx(-Dx(-Dx (- =| -1

(-2)° x(-5)° = (-2)x (-2)x (-2)x (-2) x (-2) x (~2) x (-5) x (-5) x (-5)
= (Dx(B)x (-2)x(-B)x (-2)x (-5) x (-2 x (~2)x (-2)

10 10 10

=10x10x10x(-8)
=|—-8000
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(-5)x(-1)" ==(6x5)x (=D x (- x (1) x (1) x (=1) x (-1)x (-1)

=-25x(-1)
=|+25
(7 (—0.4)><0.16><3><(—25)><(—125):—ngx(%x@xu;
=—(0.4x25)x3x(2x0.08x125)
=-10x3x(2x10)=| -600
[BfiE] TR L T, 2x5=10 Z/EV 7,
(—=0.4)x0.16 x3x(—25)x(=125) = —(ix E>< 3x25x 125}
10 100
2x2 2x IXIX2,
= X x3x5x5x5\xM
(N Tox10 J
=-2x2x2x3x5x5
=-2x3x2x5x2xb
™ 1
=|-600
H2.3
1) -5-2x6-(-3)x(-7)=-5-12-21=|-38
2) (-6)x(-5)-32+(-8)=+30+4=|+34
@3) (—3)><5—(—7)—8><(—3)+(—6)=—15+7—4/8/><1\&x\; —1547-4=[-12
Z
) (—3)><15+(—9)+(—7)><4:+1\&><)/5/5><; _98=15-28=|—23
4,
(5B) (-8 —-4x(-9)=+64+36=|+100
6) —-32—(-4)x5-2x(-7)=-9+20+14=|+25
(7) (-3 —-4*-9x(-5)=-27-16+45=|+2
(8) -16-6x4—-(-3)°x(-2)=-16-24—(-27)x(-2)=-40-54 =| - 94
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